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Physics 122

Midterm - November 2017 #l

Name -

Do problems #1 ffiFn the space provided. Do #p-6 on your own loose leaf.

Show your work.

1. An 850.0 N painter stands I.20 m from one end of a 3.00 rn long scaffold supporled at each

end by a stepladder. The scaffold has a mass of 26 kg and the upward force applied to the 1eft

end of the scaffold is as indicated in the diagram. If the box of paint cans is located 0.50 m

from the right end of the scaffold, what is the magritu4e of the force acting on the right end

of the scaffold? Assume a state of static equiiibrium. (10)
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